Function machines
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a) Write an expression for its output.

b) Find the value of the output if y = —2

a) 3y + 2
b)3(-2) +2=-4
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rFind the output of these function machines: )
a)| 8 Subtract 6 : 2 d| 2 Times by - 5 =10
b)| 4 Times by 5 20 | e)| -4 Add 8 4
)7 Add 14 : 21 110 Subtract 14 .4 ‘

a)| 8 Subtract 12 -4 d)| -8 Divide by 4 .2
b)[ 4 Times by -3 ‘ -12 e)| -3 Times by 5 -15
o7 Add -12 L .5 - Subtract 8 10 |
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Find the input of these function machines:
Add 3 5 )5 Times by 6 30
Subtract 5 14 ki-32 Divide by 4 8
Times by 5 15 .3 Times by - 4 12
Add 12 5 ) -6 Times by -5 30
h) 29 Subtract 15 14 K) -24. Divide by 4 ©
i) 4 Squared 16 ) 0.5 Times by - 2 -1
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Find the rules of these function machines:
8 § ------------------------------------ ‘; T 12
m) | 3 [== Subtract3 5 P |16
> T 2 :
n | g . Times by 4 20 a | e
T p— - v
m | ¢ Add 1 i I
> L > 3
| Times by -1 5 1 s
T — 3 ”
I Add 5 10 V|,
\
Exam question:
Here is a function machine. The input is shown. 3y —)| +2




